BHI3E HEHHEMKOEWIFENERIN S BLEH TR

CZTREHFBOARICBVLWT 198 FERRRFELLEHRKA 1 LHA
WHEOBHIBOWT 1999 FICHELLERKRK DEZSHTSH. AT
HEBRAKOEREIBECERINTBD , FHEBTIILD2EH04UELD
MABEHIZIODWTHGZ2RAD2BHZLTVS. XL TIHORXEFROR
EWXDODVWTKH, FHELBEoFHEIAERICHELTOLEYY > JITEKDHS
MIZLEZHbDTHS. BITOBEHEBMAKDODWTEBHHEBROWHITEKD
BMKEMEEHS ML 2.

(1) ATOEMBKOBME &K

ATICBITSEBRRAXORRZEZRT. XTEARZEEYMUN (KL, %
H, NE%E) ORXKITHTHD, BEVBITCEMBCERNITBIT 5 BN
Bit6 5 (Q~@DDEE) THh. ARHMBREBEIDERKAKEFROR
DNRBHBZERIEALNSEDN, BKBZ,

1 :@yis (BLE, =i, NE%)

2 BMAKEEMIGHLA
KT TEZZE, ERNIC20 TEVAKERYBHATORK] K
ETHBIEDIS , UEEHRBAKIBHMANEAROHRAOHEBMARSNS.
UHEERKOERHFRESRARERBIIBAETIERD2 1 ROBH
THD. BRERIEEFEZDDTMLS, WHWVWSHLT, WHWVWHZHHT S
BBk ELEZEHERL TWHS.

X7 ATOHEBKBXDAR

K 35 FR # &
OamuUN (BE, =i, NE%) T
QEEGRR - TOMOBMEREA 19
Q—MEEELTOHMN 22 #
@fFEEEEZTOHMA 23

RKR—VUBIZLUZEGERABABROBMHAESRERT.






_§% H B EE ﬁ ﬁ. ) m"'ﬁf_‘ff !.!:E mﬁ mg §E§ Eig ﬁﬁigi! )

5] 1] s[g [ 19] 28[@Bprist CINE A MR

9 1] 13[& of 11 EET ] ERE 100 60| 200 9 0
1] [ 20]k | 21] 40| %EF SRR Y

12] 1] 20[k | 21] s2[EEmLIst ] B

14| 1] 26| A 2[ 19

15[ 1268 3 1 E—AEERE 60 200 4 15
16] 1] 261A [ 21] 4[@Peist 405 ]

17] 1] 2618 [ 211 32]524) AETEVERA MK

18] t[26[8 [ 21]32[eeh =R [fE2

19] |27k | 5[ 19]i8y Em B ERTEG RN 40| 80 6 15
20! 1l 29]4 0 13 A 3 80[ 200 12 10
22 1 29]4 23| 27| REHFE iyl 2 - 40 80 4 55
23[ 1] 30 13] 38| FDfth EE

24 1| 31[F IERET TR [ REE - 60] 200 5 30
26] 2] 1|8 3 AMBE 80 400 15 0
27 2] 3|k | 16] 28|dE E-BREERE 60 200 4 30
29[ 2{ 4|k [ 19] 23[¥ itk Hoh—iL

o[ 2] s[x | 8l selgs P o 308 ) 80| 200 5 20
31| 2] s[K [0 se[#EEE  [51RE i P T 60[ 200 5 15
32[ o[ 6|& [2i] sa[@% B |RE S MEREEWAEE | 50| 100 2 70
a4 288 | o ao[FEA _ [WTEER % Bt so[ 200 i 0
35 2 8l8 5| 47| REHE EAL ] AT R 60] _ 200 5 70
36| 2| 8[8 9 30|20 N

39 2| 8lB [ 10] 1o|#EHFE RATZAR—=R L3 ] 80| 400 15 0
38] 2 s[B |i1] 5 e S BENE RN RBE 40 80 4 115
39 2| 8B [13[ 36[igt¥ ILR—3— |5B0R

q0f 2| ol [21] 31 |3 — 60|  200|FMA

41| 2[ 12(&k [ 21 10[@Busn ETl L35 - LR 40 80 4 90
42| 2[ 4]+ of | AR FE) 80| 600 32 0
43| 2| 15]8 6} 18[12% TR 60 00 4 15
aal 2l16[A [ 17| 22]FE RABEY 132 m& 60 200 8 0
45| 2| 16§ [22] slfFE HhFEIEY n{7 3 80| 300 15 0
46] 2] 16]8 | 22| olE&ip v} /B AR Y] [CE3Y ] 80[ 400 2 10
47} 2] 185k | 16] ol E 3 P = 60] 200 3 30
49 2| 19K [6] 14 gﬂ 418F - R 60| 200 11 0
50[ 2] 19[K [ 23] 19 g% HLR—)L 15 80 500 10 0
531 2] 23[R 7] 55| A EHEE 1 b3 4T Kihig 60]  200|FEAy

54| 2| 23[F 8} 21| D K=t THE-WERENE 60] 200 5 30
55| 2| 23|18 o BWARE BT 7 g [ I 60] 200 12 0
56| 2| 23[H [11] 1[EF - 60| 200 8 0
57| 2| 23|H | 14] o[%=RIF nE vl |- HMER{ RN AR 40 80 2 95
58| 2| 24[k [19] 1[@#% W B BN 60| 200 2 40
59] 2| 25[7k 2| 10 KEHE it #f

60| 2| 25[k | 22] 19]¥Dfth [7) 60] 200 3 135
81| 2| 27|& | o] 20| REIEE {7

63| 2| 28[x [ 17] 38[;5& L #H

66] 3] 3lde | 12] 25[FF LYok 2 40 80 5 90
67 3] 3[k [14[ 46 BT F5%2% 80] 400 4 90
69| 3| 4|k |15 6 BN =k 40 80 11 0
70[ 3] 4[A& [ 19] 56lFE T £ 80] 400 5 155
[ 3 6 20| 3sIHA R ET ] 80] 400 12 0
22[ 8] 7| [19] i[HARE 7 T 60|  200[FANEAY

74 3f 8|8 [ 13] 37[@% nE -1 3 60] 200 15 0
75| 3} 8[B |18 17][i#% B R 60] 200 4 52
77| 3} 10[k 1| 2| WARE nE 80] 700 12 0
79 3[ 10|k | 20] 5[#EFEE 15 BERYE 60| 200 4 20
80| 3| 11|k |13 38[Ffth Al H/E

81| 3| 13|& |20] 4 HXFEE 158 60] 200 3 55
82| 3| 14[+ of 11[Z it bR 80] 600 8 125
83] 3] 14[+ [ 16]37[HFEE ERS I EE 80] 600 4 40
84| 3[14|x [18] 21 é_%m B 80| 200 4 110
85| 3[15]H il 6 TR 80l 400 2 25
as| 3[15/8 NERETIN B = 60| 200 4 50
87| 3| 15[8_ | 15} 12| ¥ 0Dith LR ) 5% 80 400 4 25
88| a[ 15| | 23| 5oLt  |Bm 75 F—MERTENAHE 40 80

go 3l 17[k [ 17] 24]fFE - 40 80 3 12
9o[ 3[17[X [ 19| 51[8% E 0] i 60 200 6 180
o1 3l 18]k | 14] 45| ¥ Dt 3] e

92| 3l 18]k [15] [¥oih K- BH

o3[ 3l 18{k [ 17] 25T 4tEHE [d3 EE Pl T5E 310 80] 300 3 55
o4 3[18|7k | 21| 20| HFAEE = S E i ] 80[ 400 4 190
95| 3|19k | 16] 10]€Dft a3 E—APE R AR 60| 200 5 140
96| 3f201¢ | ol 5{@¥ Bl e e E1, L 1R 60f 200 3 30
98| 3| 20l& 5| RiREEE #FERT i [CE 3T N 80] 400 5 90
oo 3[2i]+ | o[ sejEE i G, LA 60] 200 2 40
100! 3] 221H 3] 2 RH [ A FMiyba—n—
101] 3| 2afk | 18] 26 EME 7 & 51 EF R 60[ 200 7 90
102] 3] 25[k T 19] S|EEEE LYGED yie2 # T i 60 200 2 20
103] 3| 25{k | 23| 35| AT 80] 400 5 5
104] 3| 26iK 1| 28}i8% hik = b ik 40 80 4 25
105] 3| 261K 1] 2% MR Hot—)  [S—HERTRAAME 40 80 4 25
106] 3| 26]& 1| 45| AEIESE AHBT 5188 i Gt LR 60| 200 5 55
107] 3| 27|& | 22] 35[0 B IRy e [ E 3701 ] 80] 400 5 90
108] 3[27]& [22[ 44| N BRI CESL 80 500 8 15
109] 3| 28|+ o 11 NEX s1E% 80 600 3 7
110 3[ 28]+ 7] 36|53 LML L
1] 3| 28]+ [ 14] Se[RFEEE 2B [SE 3L ] 80] 400 2 10
112] 3| 29lR RNEAGEE TE E-—)\HE |F—BTEREREE 60 200 2 5
113] 3] 29iH 4| A% BEE A [GE 3] 80 600 16 0
114] 3] 20| 9| 2|#EHE LYEE s 82 [SE3T 80] 400 2 80
115] 3[28[8 |12 24][xDfth TEhR
117] 3[29[A [2i] sol#EEE 2F% TEE [ 30 80 _ 400 2 95




Nol9

................................................................................. ‘/ 1 ﬁ 27E (k)
585194
A2
Y ..l $ 3 H B 22 R
HRIIEE . M1, 37m
¢—P | [ 1
F=E
O |t K
|:| 1]
®E




No2 2

ry
3
£y
3

3
dt
1

[ ]

= ]| | ez

X
& N I——-l
£ % 18298 (XK)

A O 23852749
3 @ 5 & g REEE
12 D Yk
. DS Y
HBTEE  BAMBR




12m

1A318(1)
184334
A% . FES
BT b L
b PR AL
RIS 9T




=

€

w| @
HEMEE \ O

| #R[REE

)

{I%D

15m

2838 (X)

16852853

ik -HHE
PEISIRRE S
eI, 113m




ol FF

HEEE

=

10m:

0o

0ao
ooo

d FF 30

000 | ooa
nmnoi 5o

=154

2858 (K)
108%56 %3
Fi&: #EEE
k&R B
- P& BN
PRIRE otk




No3 4

HEEE

fﬁi’)

) HEEE
I 7F
12m
&= *E
2R8A(A)
385304
A& . HFEE
kAT T EEE S
R Eml
BRBIREE (X1
No3 8

e
\
‘ ‘ 4m
sEany |
| EROREE
|
ERSRaE nN 1
g
I
HEEE 4m
2A8R(H)
1185054
A ERES
AR - 4 D
b P& S
PRI - SRR




